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INSTRUCTIONS FOR CANDIDATES

The Roll No. is a 7 digit No., the candidate needs to circle the Roll No. in the Answer Sheet.

The appropriate Circle should be shaded for Roll No. This should be done carefully because only the ;-
shaded circles are scanned.

Valuation of Answer Sheet will be done on the computer. Candidate should not make any stray marks on I
the Answer Sheet, tamper with or mutilate it. Otherwise it will not be evaluated.

Please check all the pages of the Booklet carefully. In case of any defect, please ask the Invigilator for
replacement of the Booklet.

You must not tear off or remove any sheet from this Booklet. The Answer Sheet must be handed over to
the Invigilator before you leave the Examination Hall.

All questions are compulsory and each Question carries 2 marks.
There will be negative marking of 0.5 marks for each wrong answer.

This Booklet contains 150 questions. Candidates must note that there will be 3 Sections in the
question paper :
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Sections Test Components No. of Questions Page No. b
A General English 1-50 5-10
B Elementary Math 51-100 11-17
Cc General Knowledge 101-150 18-23

Use of Calculator/Palmtop/Laptop/Other Digital Instrument/Mobile/Cell Phone/Pager is not allowed.

Candidates found guilty of misconduct/using unfair means in the Examination Hall will be liable for appropriate penal/legal
action.

No Rough Work is to be done on the Answer Sheet and only single OMR Answer Sheet will be provided.
This booklet contains 24 pages.

Directions : Each question or incomplete statement is followed by four alternative suggested answers or completions.

In each case, you are required to select the one that correctly answers the question or completes the statement and blacken (@)

appropriate circle a, b, ¢ or d by Black Ball-Point Pen provided by the board against the question concerned in the Answer Sheet.
Mark your answer by shading the appropriate circle against each question. The circle should be shaded completely without
leaving any space. The correct method of shading is given below.

Wrong Method || Wrong Method || Wrong Method || Correct Method
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The Candidate must mark his/her response after careful consideration, as it is not possible to change the response once it is
marked.

There is only one correct answer to each question. You should blacken (@) the circle of the appropriate column, viz., a, b, ¢ or d.
If you blacken (@) more than one circle against any one question, the answer will be treated as wrong.

Use the space for rough work given at the beginning of the Question Booklet only and not on the Answer Sheet.
You are NOT required to mark your answers in this Booklet. All answers must be indicated in the Answer Sheet only.
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SECTION - A
(General English)

Direction (Q. No. 1 to Q. No. 5) : Fill in the bianks with appropriate articles from
the alternatives given below them.

1. owl lived in an oak tree. :

(a A : (b) An (c) The (d) None of these
2. He saw things that happened around him.

(@ a | (b) an

(c) the ' (d) no article required
3. The wise owl saw _ little girl picking up a one rupee coin.

(a) the (b} an {c) a (d) none of these
4. Malhotras used to be our neighbours in Delhi.

{a) A (b) An (c) The (d) None of these
5. Owl saw the boy helping an old man carry heavy basket.

(a) a (b) an

{c) the (d) no article required

Direction (Q. No. 6 to Q. No. 8) : Fill in the blanks with appropriate coliective
nouns from the alternatives given below them. '

6. Last summer, we went to Africa for a Safari. We were with a of
travellers.
(a) bask (b) leap (c) caravan (d) army
7. A of lions dozed quietly under an old thorn tree.
(&) pride (b} kettie (c) flock (d) troop
8. A of vultures circled in the dazzling sky.
(a) bask (b} kettle
(c) troop (d) parliament
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: Direction (Q. No. 9 to Q. No. 13) : Choose the correctly spelt word from the following.
. 9. {a) compaietness (b) compieainess
{c} compliteness {d) completeness
10. (a) commitiment (b) comitment
(c) commitment (d) comitiment
11. (a) fixtire (b) fixture
' (c) fixter (d) fixcher
12. (a) gramar | {(b) gramer
! {c) grammer - (d) grammar
n
| 13. (a) fathfully (b) faithfully
(c) faithfuly (d) faithfuli

Direction (Q. No. 14 to Q. No. 16) : Choose the correct meaning of the given idioms
from the alternatives given below them.

14, Crocodile tears
(a) to get hysterical
(b) to use something sincerely
{(c) hypocritical tears
(d) tears caused due to presence of ammonia

15. To call a spade a spade.
(@) to play cards
\ 3 (b} to be arrogant
| (c) to speak plainly and directly
(d) to be confident about everything one does

i | 16. To stick to one’s guns

(a) to refuse to change one’s opinion
‘ (b) to be patriotic

‘ ! (c) to be notorious

(d) to be straightforward
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from the alternatives given below them.

17. Absolve _
(a) Penalise (b) Meagre (c) Spread (d) None of these
18. Bliss
(a) dormant (b) challenge () sorrow (d) accuse
19. Bold
(@) triumph (b) fearful (c) detest (d) grief
20. Desire
(a) hate (b) confirm () win (d) long

Direction (Q. No. 21 to Q. No. 25) : Choose appropriate synonym of the given words
from the alternatives given below them. '

21. Assist

(a) glue (b} estimate (c) guess (d) help
22. Astonish

(a) courageous (b) fragile {c) surprise (d) estimate
23. Calculate

(a) frank {b) reckon (c) dischange (d) annual
24. Cordial

(a) postpone (b) shy {c) forge (d) warm
25. Deceit

(a} translate (b) reserved (c) artifice (d) cheating

Direction (Q. No. 26 to Q. No. 30) : Fill in the blanks with appropriate words from the
alternatives given below them.

26. She stood right the end of the line.
(a) across (b) on {c) at (d) through




2. He swam the lake to the other side of the forest.

(a) through (b) across (c) to (d) at
28. Make sure you come back home nine.

(a) before (b) from (c) of {d) with
29. We could either take a bus share the taxi.

(a) but (b) nor {c) or (d) and
30. He lied not only to me to the headmaster.

{a) and ' (b) but also () nor (d) or

Direction (Q. No. 31 to Q. No. 33) : Fill in the blanks with appropriate phrasal verbs
from the alternatives given below them.

31. Lefs our disagreement and focus on the project.

(a) put aside (b) put down

(c) put off (d) pullup
32, We will of pens soon, so let’s buy more.

(@) run off (b) run into (¢) run out (d) run down
33. The man | when he hurt himself.

(a) broke down (b) broke up (c) broke forward {(d) broke out

Direction (Q. No. 34 to Q. No. 37) : Read the following passage carefully and choose
the correct answers from among the alternatives given below each question.

The night was cold and dark. There was great storm, thunder and lightning aiso. Most
men and animals, adequately protected, were asleep in their homes. They were warm
and happy. But some monkeys were running through the forest. They had no warm
home and there was cold. Worried monkeys looked everywhere for shefier. They had
almost resigned themselves to be flattened out by the cold. Suddenly they saw some
fireflies. Now, fireflies have a light in their tails, as all our children know. The monkeys
took the light for fire. Poor things, they did not know any better. They said, “We will go
near the fire and warm ourselves.”

There was a flock of birds in a tree nearby. One bird had a kind heart, and it fell sorry for
the monkeys. It called out, “That is not fire, my friends ! Those are fireflies. They give no
heat. It is futile to run after them.” The monkeys got furious. Their rage knew no bounds.
They did not thank the bird. One monkey said rudely, “Itis so ? We do not want unsolicited
advice. | wilt teach you to say there is no fire.” He jumped up the tree and pulled the poor
bird out of its nest, “Alas " said the poor bird, “Why did | try to help a fool ?”

A "
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The monkeys were running through the forest because .
(a) they were in search of food

(b) monkeys like running about

(c} they were in search of a warm place

(d) they wanted to kill the birds and eat them away

35. Why were the monkeys angry ?
(a) The birds spoke to the monkeys rudely.
(b} The monkeys did not like the advice of the bird.
(¢) The morkeys did not like the birds.
(d) itwas verycold and théy could not find a warm place.

36. What finally happened to the bird ?
(a) The bird flew away from the tree.
(b) The bird was killed by the monkey.
(c) The bird managed to escape from the monkey’s hold.
(d) None of these

37. Which of the following is not true in the context of the passage ?
(a) The night was cold and dark
(b) The bird had a kind heart
(c) Fireflies have a light in their tails
(d) Most of the monkeys were in search of food

Direction (Q. No. 38 to Q. No. 42) : Every sentence given below is divided into three
sections marked a, b and ¢. Read the sentence caresfully and choose the alternative that
contains an error. If there is no error in this sentence, mark d as your answer.

38. | am too glad/ to see you looking/well today./No error.

(@) (b) (c) (d)

39. Make hay/when/the sun shines./No error.

@ (b (c) (d)

40. | declared/that all will go wrong/without her./No error.

(a) (b) (c) (d)
A 9-
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4. He talks/as iffhe was my boss./No error.

@ (b () (d)

42, Many a men have fallen/victim/to this temptation./No error.

(a) (b) () (d)

Direction (Q. No. 43 to Q. No. 45) : Fill in the blanks with proper tense form from the
alternatives given below.

43. By the end of this year Ramya ~__saved alot of money.

(a) Will have (by Wilthave been (c) Willbe (d) Would be
44. There a garden in this place long ago.

(a) would be (b) usedtobe (c) istobe (d) were to be
45. | a vehicle last month. :

(a)} bought (b) have bought (c). would buy (d) was bought

Direction (Q. No. 46 to Q. No. 48) : In each of the following guestions, a sentence has
been given in Active/Passive Voice. Out of the four given alternatives, select the one
which best expresses the same sentence in Passive/Active Voice,

46, This poem was written by Mr. Kumar.
(a) Mr. Kumar had written this poem.  (b) Mr. Kumar writes this poem.
(c) Mr. Kumar has written this poem.  (d) Mr. Kumar wrote this poem.

47. A few rugs were bought by me.

(a) | had bought a few rugs. (b) | have bought a few rugs.
(c) | bought a few rugs. (d) 1buy afew rugs.

48. Our house was built by my father.
(@) My father had built our house. (b) My father builds our house.
(c) My father has built our house. (d}y My father built our house.

Direction (Q. No. 49 and Q. No. 50) : Give one word substitutes for the following from
the alternatives given below them.

49. The scientific study of the heavenly bodies.
(a) ascetic (b) astrology (e} astronomy (d) aphorism

50. A glass container for fish and other water animals.
(a) amphibian (b) agquarium (c) aesthete (d) apiary

A 10~
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SECTION - B
(Elementary Math)

The HCF of 2 and 3 is
{a) 6 : (b) 2
{¢) 3 (d) 1

The value of (JE_JE) (J5+J§) is

(@ 11 (o) 11

{c) 1 (d) O

The r12umber which is not rational among the following is .
a) = b) 10

(a) s (b)
(o) O (d) 2

The HCF of 2 numbers is 12 and their difference is also 12. Then the numbers
are

(a) 84,96 (b) 12,36
(c) 80,90 (d) None of these

0.333 ..... as a fraction is

3 - 33
(a) 0 | (b) 00
(c) % (d) None of these

9 . -

— as a decimal is

25

(@) 0.90 | (b) 0.36

(c) 0.25 (d) None of these

In an election the winner gets 8,100 votes which is 90% of the total votes. The
total number of votes is

{a) 9,000 (by 7,900 {c) 9,900 (d) None of these

-11-
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If HCF of p and q is 3 and their LCM is 6, thenp x q =
(a) 18 (b) 6
(c) 3 (d) 0

If 10 women can do a job in 9 days, 30 women can do the same job in
days.

{a) 27 by 3

(c) 9 (d) None of these

If 5 chairs cost Rs. 750, then 15 chairs cost

(a) Rs. 2,150 | (b) Rs. 1,500
(¢) Rs. 2,500 (d) Rs. 2,250
5 0 -5
The value of (E) x(g) X(E] =
3 3 3
(@) 1 (b) O
(¢) —1 (d) None of these

If31-%=27, thenx=
(@) 1 : (b) 2
{c) -2 (d) 0

If the total weight of 25 boxes is 100 kgs, then the average weight of a box is
(a) 40kgs (b) 4kgs
{c) 0.4 kgs (d) 2500 kgs

The average age of 10 boys in a class is 11 years, then the sum of their ages is
(@) 11yrs (b) 110 yrs
(¢) 100 yrs (d) None of these

If average cost of 4 kgs of apple is Rs. 100 and average cost of 4 kgs of almond
is Rs. 800, then average cost per kg of fruits is

(a) Rs. 400 (b) Rs. 550

(c) Rs. 200 (d) None of these

-12-
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If 25% of a number N is 100, then N =

(a) 25 : (b) 200

(c) 800 ' (d) 400

If cost price of an article is Bs. 1,000 and profit (on cost price) is 10%, then the

selling price of it should be _
(a) Rs. 1,010 (b) Bs. 1,200
(c) Rs. 1,100 ~ {d) None of these

If selling price of a book is Rs. 220 at a discount of 20%, then cost price of the
book shouid be

(a) Rs. 275 (b} - Rs. 250
(c) Rs.200 (d) None of these

What percentage is 15 paise of Rs. 15 7 ,
(@ 01% _ (b)y 10%
() 1% (d) 0.01%

After revaluation a student’s marks was changed from 84 to 72. The percentage
of decrease in marks is

(@) 14.28% ' (b) 12%
(c) 16% : (d) None of these

If a person spends 25% of his monthly income on house rent and 25% on school
fees, he is left with Rs. 15,000, then his monthly income is

(a) Rs. 25,000 (b) Rs. 40,000
(c) Rs. 30,000 (d) Rs. 50,000

Mr. Bean bought a watch at Rs. 250 and sold it for Rs. 300, his profit
percentage is '

(a) 50% (b) 25%
(©) 20% (d) 15%
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73.  If 40% of 50 = x% of 80, then x =
(a) 20 (b) 25
(c) 30 (d) 40

“ ; 74. The simple interest on a sum of Rs. 1,000 at 10% per annum for 2 years is
‘ | (a) Rs. 100 | (b) Rs. 150
| ' (c) Rs. 200 {d) Rs.20

I 75. Rs. 5,000 at 5% p.a. simple interest for 4 years would amount fo
[ P (a) Rs. 6,000 (b) Rs. 5,400

i ! (c) Rs. 5,500 (d} None of these

||

o 76. If a sum of money doubles at certain rate of simple interest for 8 yrs, then the rate
i of simple interest is ' :

L (a) 12.5% (o) 12%

‘ (c) 18% d) 16%

77. The time period in which Rs. 5,500 will amount to Rs. 6,050 at 4% p.a. simple |

‘ e interest is
| | (@) 2yrs (b) 2.5yrs
y (¢) 3yrs (d) 1yr

78. What is the simple interest on Rs. 650 for 14 weeks at 6% p.a. (assume an year
has 52 weeks) ?

| (a) Rs.6 (b) Rs.8 l
el (c) Rs. 10 (d) Rs.10.5 |

. 79. [f a sum of money doubles itself in 12 yrs 6 months at certain rate of simple
| interest, the number of years required to triple itseif is

s (@) 18yrs | (b) 16.5yrs |
‘ (c) 25yrs (d) None of these

| _ 80. The value that Rs. 1,000 would amount to under compound interest at
K 10% p.a. for 2 years is
O ‘ (a) Rs. 1,212 | (b) Rs. 1,210

(c) Rs. 1,200 {d) None of these
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If a certain sum of money amounts to Rs. 24,200 in 2 years at 10% p.a. compound
interest, then sum is

(@) Rs. 20,000 (b) Rs. 22,000
(c) Rs. 19,800 (d) None of these

If out of 50 people, 20 people drink tea, 30 drink coffee and 10 drink both, then
number of people who drink atleast one of the two drinks is

(@) 45 (b) 50

(¢) 30 | (d) 40

Ramesh is thrice as old as Suresh. Two years later, Ramesh will be twice as old
as Suresh. The present age of Ramesh (in years) is

(@ 2 (b) 3

(c) 4 ' (d) 6

Twenty years from now, Shreedhar will be 6 times as old as he was 20 years
ago. The present age of Shreedhar is (in yrs)

(a) 20 (b} 24
(c) 28 (d) 32

A number consists.of 2 digits and whose. sum is 3. If 9.is added to the number,
the digits get reversed. The number is

(@) 14 (b) 21
(c) 30 | (d) 12

if the sum of 2 numbers is 107 and their difference is 17, then the numbers are
(a) 45,62 (b) 30,47
(c) 80,27 (d) None of these

The present age of two brothers is in the ratio 3 : 4. 4 years ago their age was in
the ratio 2 : 3. Their present ages are (in years)

(a) 12,16 (b) 3,4
) 6,8 (d) None of these

-15-




89.

90.

91.

92.

93.

GEM — 4/23

If 5 is divided into 2 parts such that sum of their reciprocals is § then the
numbers are 6

(@ 2,3
(b} 1,4
(c) 0,5
(d) None of these

if Ms. Leela takes 4 days to complete a task, then the amount of task completed
by her per day is

’
(b)z

M —

(a)

(€ - (d) 4

if a man rides a cycle at 2.5 km/hr, what distance will he cover in 10 hrs ?
(@) 250 km . (b) 25 km
(¢) 2.5km (d) 50 km

If a man runs 6 metres in a second, what distance does he run per hour in kms ?
(@) 60 km (b) 20 km
(c) 10 km (d) 21.6km

36 km/hr in meters/sec is
(a) 10 (b) 1
(c) 100 (d) 0.36

Sunil left Shimoga and reached Durga in 4 hrs. His average speed for the journey
was 90 kmph. The distance between the two places is

(a) 180 km (b) 360 km
(c) 720 km (d) 900 km

-16-
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94. If Rs. 300 is shared between A and B such that A gets twice that of B, then B's

share is
(a) Rs. 200 (b) Rs. 100
(¢) Rs. 30 (d) None of these

2
85, One third of — is

3
2
@ 3 (0) 2
(c) g {d) None of these
96. If A’s speed is 45 km/hr, distance covered by her in 20 minutes is
(@) 18km _ (b) 30 km
(c) 22.5km (d) 15km

97. If a table costs Rs. 750 and 2 chairs cost Rs. 600, then cost of 2 tables and a
chair is (in Rs.)
(a) 1800 (b) 1050
{c) 2100 (d) None of these

98. lfa:b=2:3andb=900,thena =
(a) 600 {b) 400
(c) 60 (d) 30

99. If perimeter of a square is 40 cm, then length of each side of the square is
(a) 4cm {b) 10cm
(c) 36cm (d) 20cm

100.  Area of circle of diameter 14 cmis (use 1 = 23/)
(8) 22 cm?

(b) 154 cm?
(c) 198 cm?
(d) 100 cm?

A -7~
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SECTION - ¢
(General Knowledge)

101, Aihole was the capital of which dynasty ?
‘ (@) Pallavas (b) Pandyas
f (¢} Cholas (d) Chalukyas

102.  Which of the following are symptoms of Haemophilia ?
B (a} Bleeding of the mouth and gums (b) Bleeding into muscle and joints
I () Both (a) and (b) (d) Neither (a) nor (b)

kR 103. Name the place where dead bodies are keptin a hospita.
- (@ A mint (b) Humanities
3 () Mortuary (d) None of the above

. 104. Giddha is the folk dance of which State of india ?
o (@) Assam (b) Nagaland
L (¢) Gujarat (d) Punjab

_‘ f 105. Which country gifted the “Status of Liberty to USA” ?
an (a) Brazil (b) Canada (c) France (d} England

|| _
: ‘ I 106. What is the Capital City of Maldives 2

O
SR (a) Dhaka (b) Kabul (¢) Thimphu (d) Male
Lo .
J | i' 107.  Who is the Father of Nuclear programme of India ?

i h (a) Abdul Kalam (b} Homi Jehangir Bhabha

a (¢) Vikram Sarabhai (d) Nambi Narayan

| f 108. Whois the youngest person to get Nobel Prize laureate ?
/ f (@) Kailash Satyarthi (b) Rabindranath Tagore
|‘ (c) Hargovind Khurana (d) Malala Yousafzaj

‘ N 108.  Who is the First Indian to win the Gold Medal in Javelin Throw ?
N | (a) Neeraj Chopra (b} Abhinay Bindra
i | (c) Dhyanchand (d) None of these

i
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Which of the following musical instrument is played by Bismiliah Khan ?
(a) Sitar (b) Sarod (¢) Shehnai (d) Sarangi

Name the First indian to win a Grand Slam Title.
(a) Leander Paes {b) Mahesh Bhupathi
(c) Sania Mirza {d) Rohan Bopanna

Who is the First indian to get pilot license ?
(a) Karyappa (b} Manik Shaw
{c) Wright Brothers (d) Jehangir R. D. Tata

Which is the Longest Railway Station in the World ?
{a) Hubballi (b) Bangalore
(¢) Mumbai (d) None of the above

Where is the Headquarter of North Atlantic Treaty Organisation (NATO) is
located ? :

(a) lLondon (b) Rome
(c) Brussels (d) Kiev

What is the name of first silent film of India ?
(a) Raja Harishchandra (b) Alamara
() Sati Sulochana (d) Mughal e Azam:

Who is the Father of Indian Space Program ?
(a) Nambi Narayan

(b) Dr. Vikram Sarabhai

(c) Rakesh Sharma

(d) None of the above

Chanakya is also known as
(a) Samudragupta {p) Chandragupta
(¢} Harshavardhan {d) Vishnugupta

The Lake Ladoga is located at
(a) America (b) Iran (c) Peru (d) Russia

~19-




| B 119.  What were Warriors in Japan known as ?
; (a) Samurai {b} Soldier _

. (c) Fighter (d) None of the above
. :
; L 120. What is the only flying mammal ?
Rl ‘ (a) Deer (b) Rats (c) Bats (d) Apes
' ! 121.  Ornithology is a study of _
] (a) Insects (b) Bat - (c) Snake (d) Birds
R
| | | 122. When was the Right to Information Act passed ?
Y (a) 2005 (b) 2006 (c) 2009 (d) 2008

. i | 123. Who was the founder of Social Media Platform Facebook ?
L | || (a) Jack Dorsey (b) Mark Zuckerberg
| ‘ i (c¢) Elon Musk - (d) None of these

124.  Where is Ranipur Tiger Reserve located ?
(a) Madhya Pradesh (b) Tamil Nadu
(c) Karnataka (d) Uttar Pradesh

125.  The International Tiger Day is celebrated on
(8) June 29 (b) March 16
(c) December 5 (d) July 29

126. Name the Article which provides that disputes arising out of the election of the
President or Vice President shall be decided by Supreme Court.

(a) Article 71 (b) Article 73 (c) Article 75 (d) Article 76

&l ‘ 127.  Which Article of Constitution related to the amendment of Constitutions ?
jii] ! (a) 356 (b) 360
(c) 368 (d) 352

1 128.  When did Arunachal Pradesh become full-fledged State 7
u ‘ (a) 1992 (b) 1987
i (c) 1986 (d) 1962
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129. Which is the largest organ in Human body ?
(a) Liver (b) Skin
{c) Spinal cord (d) None of these

130. Where is the “Rezang L.a War Memorial” located ?
(a) Jammu and Kashmir

(b) Uttarakhand

{c) Ladakh

(d) None of the above

131.  World War il started in which year ?
(a) 19386 (b) 1932
{c) 1939 (d) None of the above

132.  Which is the longest National Highway in India ?
{a) NH 44 (b) NH 66
(¢) NH27 (d) NH52

133. Which is the world’s l.argest Flower ?
(a) Cacti (b) Lotus
(c) Rafflesia Arnoldii (d) None of the above

134. How many players play in one team in soccer ?
(a) 12 ' (b) 10
(c) 09 (d) t1

135. Which is the World's largest fresh water Lake ?
(a) Lake Superior (b) Lake Victoria
(c) Lake Huron ~ (d) None of the above

136. Who painted the Mona Lisa ?
(a) Leonardo da Vinci
(b) Raja Ravi Varma
{c) Nethish Kumar
(d) Naone of these

A 21~
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137.  Charminar is located in which city ?
(@) Hyderabad
o (b) Madhya Pradesh
| ‘ & {c) Karnataka
(d) None of the above

| 138.  Who was the First Woman Teacher in India ?
I, (@) dJyothi Kamath (b) Savitribai Phule
|1l (¢} Bhuvaneshwari Devi (d) None of the above

‘_ iy 139.  Which of the following is the giant moon on planet Saturn ?
R (a) Titan (b} Bell
i (c) Angrboda | (d) None of these

\‘ |
|']
; |
| f | 140. The Tower of Silence is located at which of the following cities of India ?

(@) Bangalore (b) Jaipur
| ;1“‘ (c) Lahore (d) Mumbai

| .

‘ ili 141, Mehao lake is situated in the district of Arunachal Pradesh.
l (@) Tawang ~(b) Papum pare

(c)} Lohit (d) Lower Dibang Valley

o 142.  This festival of Arunachal Pradesh i$ organized in the villages with the aim of

' providing supernatural protection to the Crops sown so as to have good harvest
- (a) Sangken (b) Reh

(¢) Tamiadu (d) Choekor

f‘il 143.  For the first time President's rule was imposed on Arunachal Pradesh in
b (@) 1979 | () 1972

| ) 144, This is the oldest archaeological site of Arunachal Pradesh
i (a) Bhalukpong (b) Chimri fort
I (c) ltanagar (d) Bhismaknagar
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145.  Who among the following was the first woman to scale Mount Everest from
Arunachal Pradesh ?

(a) Anshu Jamsenpa
(b) Tine Mena
(c) Nyari Welli
(d) O. M. Deori

146. In Arunachal Pradesh, Apple Orchard is located at
(a) Tawang
(b) Papum Pare
(c) Shergaon
(d) Doimukh

147.  Which among the following National Highway connects Tawang to Pasighat ?
(a) NH 115 _ (b) NH 215
(¢) NH713 (d) NH13

148. The Adi village Council of Arunachal Pradesh is called
(a) Erang (b) Bogum
(c) Dolung (d) Kebang

149.  Arunachal Pradesh tableau won first prize in the Republic Day parade in this year
for depicting Yak dance

(a) 2016 (b) 2017

(c) 2018 (d) 2019
150. is the State bird of Arunachal Pradesh.

(a) Peacock

(b) Hornbill

(c) Parrot

(d) None of the above
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